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N.B. :
1) Question — 1 is compulsory. Answer any three questions from remaining,

2) Assume data if necessary and specify the assumptions clearly.

3) Draw neat sketches wherever required.

4) Answer to the sub-questions of an individual questior should be grouped and
written together i.e. one below the other.

1. (a) Write the dual of the following LP: [05]

Maz z=1zy+ 219 + 313
.3, 3x1 + 230 + 23 = —4
471 +5z9 + 623 < 8
Ty, Tq9 > 0, z3 ﬁnTESET‘iC-!:Ed

(b) Show all possivle spanning trees in the following network of cities:

city | connected to
A B and D
B ¢ and D
C D

(¢) The following is the pay-off matrix for player A. [05]

l1|g]| 6
pr5 10
612 3

‘Determi.ne the values of p and q that will make the entry (2,2) a saddle point.

~ (d) A bakery receives customers totally randomly at a

bakery is open 8 hours a day, what is the probabil
in any one hour?

n average of 40 per day. If the - [05]
ity that no customers will arrive
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2. (a) Solve the following LP using Revised Simplex:

Moz 2.'.::23;1

T2 — I3

8.l. z3 +4zg + 233 < 12

201 — T9 + 223 < 20

ZL1,%2,23 >0

(b) Find the shortest distance from node 1 to node
Dijkstra’s algorithm: '

S in the following network, using [10]

From Node | To Node

Distance

2

1
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3. (a) Solve the following IP using Branch and Bound Technique:

Maz z = 3z1 + 4z

st. 221 +322<9

321 + 222 < 10

z1,29 = 0 and integer

-
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(b) A company has accepted a contract to supply 8C chairs at the end of the ﬁr:s’c n:wnth,
" " and 120 at the end of the second month. The cost of marfufacturmg chairs in any
month is 50z 4-0.2z? rupees, where z is the number of chairs manufactured in that

month. If the company manufactures mo
there is an inventory cost of Rs.8 per cha

" the number of chairs to be manufactur
Fhe company has facilities to manufactur
that there is no initial inventory.

4. SO]';!E the following transportation problem using the

re chairs than needed in the first month,
iv carried into the second month. Find
ed in each month to minimize the total cost.
& up to 200 chaifs in'a month. Assume

initial BFS: Source | Dest. #1 | Dest. 2 Dest. #3 | Cap.
2 59 24 - 18 100
Demand 500 300 600

The entries represent cost of transportation In rupe

destination node.
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Least Cost method to obtain the [20]-
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